	8/21/09
KANSAS CORPORATION CONFIDENTIAL OIL & GAS CONSERVATION WELL COMPLETION WELL HISTORY - DESCRIPTION	Form ACO-1 September 1999 N FORM OF WELL & LEASE
Name: WOOLSEY OPERATING COMPANY, LLC Address: 125 N. Market, Suite 1000 City/State/Zip: Wichita, Kansas 67202 Purchaser: Bluestem Gas Marketing / Plains Marketing Operator Contact Person: Dean Pattisson, Operations Manager Phone: (316) 267-4379 ext 107 Contractor: Name: Duke Drilling Co., Inc. License: 5929 Wellsite Geologist: Billy G. Klaver Obesignate Type of Completion: V New Well Re-Entry Workover Oil SWD SIOW Temp. Abd. V Gas ENHR SIGW Dry Other (Core, WSW, Expl., Cathodic, etc) If yes, of Workover/Re-entry: Old Well Info as follows: Operator: Well Name: Original Total Depth: Despening Re-perf. Conv. to Enhr./SWD Plug Back Plug Back Total Depth Converted No. Dual Completion Docket No. Other (SWD or Enhr.?) Docket No. Other Gompletion Date or Date Reached TD Completion Date or Output D	Do. 15 - 007-23140 0000 y: Barber SE _ SW _ SE _ Sec 6 _ Twp 34 _ S. R 11 East
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansa Kansas 67202, within 120 days of the spud date, recompletion, workover or convention of side two of this form will be held confidential for a period of 12 months 107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologically the Tickets Must be Attached. Submit CP-4 form with all plugged wells. Submit CP-4 form with all plugged wells. Submit CP-4 form are complete and correct to the best of my knowledge. Signature: Dean Pattisson, Operations Manager Date: Da	as Corporation Commission, 130 S. Market - Room 2078, Wichita, ersion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. if requested in writing and submitted with the form (see rule 82-3-gist well report shall be attached with this form. ALL CEMENTING CP-111 form with all temporarily abandoned wells. ACC Office Use ONLY Letter of Confidentiality Received If Denied, Yes Date: Wireline Log Received
Notary Public: Debra K. Clingan Debra K. Clingan Date Commission Expires: March 27. 2010	Geologist Report Received RECEIVED UIC Distribution KANSAS CORPORATION COMMISSION

AUG 2 1 2007

CONSERVATION DIVISION WICHITA, KS

Operator Name: Wo	OOLSEY OPERA	TING C	OMPANY, LL	C Lease	Name:	NURSE		- Well #:1			
Sec. 6 Twp. 34	S. R. 11	☐ Eas	t 🗸 West	Count	y:Bar	ber				· · · · · · · · · · · · · · · · · · ·	
NSTRUCTIONS: Shested, time tool oper emperature, fluid rec Electric Wireline Logs	and closed, flowing overy, and flow rates	and shut if gas to	t-in pressures, v surface test, al	whether si ong with t	hut-in p	ressure reached	static level, hydro	static pressui	es, bottor	n hole	
Drill Stem Tests Taken ✓ Yes □ No (Attach Additional Sheets)				V	✓ Log Formation (Top), Depth and Datum Samp				Sample		
Samples Sent to Geo	•	 ✓Y	es No		Nai Elgi	me n Sd		Тор 3587		Datum 2125	
Cores Taken		ПΥ	es 🗸 No		"	onto		3735 -22		2273	
Electric Log Run (Submit Copy)	n				ıglas		3767		2305		
, , , , , ,					Swo	ppe Por.		4388		-2926	
ist All E. Logs Run:					Her	tha Por.		4415 -		2953	
Compensated N	Neutron Density	y PE			Mis	sissippian		4612 -3		3150	
Dual Induction	_				Viol	а		4965 -3500		3503	
Sonic	C€	ment E	Bond		Sim	pson		5106 -		3644	
,		Repo	CASING F			New Used	ction, etc.				
Purpose of String	Size Hole Drilled		ze Casing t (In O.D.)	We Lbs.		Setting Depth	Type of Cement	# Sacks Used		and Percent	
Surface	14 3/4"	10 3/4"		32#		268'	Class A	200	2% gel,		
Production	7 7/8"		4 1/2"		# / ft	5179'	Class H	185		6% Kolseal,	
							60/40 poz 6%gel	50	1/4# Celloflake, .8% fluid loss		
	4	***************************************	ADDITIONAL	CEMENTI	NG / SC	DUEEZE RECOR	D	·			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	e of Cement	#Sacks	s Used		Type and P	ercent Additives	5		
Shots Per Foot	Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth						
4	Mississippian 47	03-4734'				Acid: 105 bbls 10% MIRA same					
				,	Frac: 281,500 gal treated 2% KCL wtr, 100,800# 30/70 sd, same						
						8,000# 16/30 sd and 10,000# 16/30 resin coated sd					
TUBING RECORD	Size	Set At		Packer /	At .	Liner Run					
	2 3/8"	4773'	г	n/a			Yes No				
Date of First, Resumero 7/15/		nhr.	Producing Meth	nod	Flowi	ing 🕢 Pump	oing Gas Lift	t Oth	er (Explain)	1	
Estimated Production Per 24 Hours	Oil 12	Bbls.	Gas 200	Mcf	Wa	ater 103		as-Oil Ratio		Gravity	
Disposition of Gas	METHOD OF C	OMPLETION	L			Production Inte		.,			
Vented ✓ Sold	Used on Lease		Open Hole Other (Specia	✓ Per	ſ. 🔲	Dually Comp.	Commingled				

ALLIED CEMENTING CO., INC. 24354

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665			SERV	ICE POINT: Medicio	e Loge 15
	Siled out	ON	LOCATION	JOB START	JOB FINISH 900PM
1 0000		101/	clala	COUNTY	STATE
	160 34.,	10/2	3,16,15,	Barber	<u>Ks</u>
				_	÷
CONTRACTOR Duke #/	OWNER		Voolsey	Open.	F-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1
TYPE OF JOB Sueface HOLE SIZE /4 34 T.D. 284	CEMENT	i			3% t
CASING SIZE 1034 DEPTH 280	AMOUNT	ORDER	ed <i>200</i>	15x "A"+	3/oce+
TUBING SIZE DEPTH	21/0 get		-		-
DRILL PIPE DEPTH TOOL DEPTH	· 				
PRES. MAX 250 MINIMUM —	COMMON	20	OA	@ 11.10	2220.00
MEAS. LINE SHOE JOINT N/A	POZMIX			@	
CEMENT LEFT IN CSG. 15 PERFS.	GEL CHLORID	<u>— У.</u> Е 7	, . .	@ 16.65 @ 41.60	<u>66.60</u> 326.20
DISPLACEMENT 24 Bb/s Fresh H20	ASC			@	
EQUIPMENT				@	• •
				.@ @	
PUMPTRUCK CEMENTER D. Felio				@	KC C
# 343 HELPER S. KRamer BULK TRUCK				@	AUG 9 1 2007
#363 DRIVER C. Willard				· @	
BULK TRUCK		· · · ·		· @ — — U	A nden ential
# DRIVER	HANDLIN		2//	@ <u>1.90</u>	400.90
DEMARKS.	MILEAGE	<u>/3 x</u>	21/ X. Min c	09 his —	250.00
REMARKS: Pipe on B++m. Break Circ. Auma 3 B6/s Frees	.1		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	/ TOTAL	<u>3263,70</u>
HO, Mix 200 x A-312 cement, Start Dis			SERVIC	Œ	
W/ Fresh HD, Wash up Pump, See Steady in	<u> </u>				
chease in PST, Slow Rate at 20 B61s, Stop at 24 B61s to tal Fresh HOD Disp. Shutin,	DEPTH OF				815,00
Release line PSI Cement Did Cier.	PUMP TRU EXTRA FO			@	0/3,00
	MILEAGE		13	@6.00	78.00
***************************************	MANIFOL	D		.@	
A				.@ @	
CHARGE TO: Woolsey Open.				. ~	
STREET				TOTAL	893.00
					•
CITYSTATEZIP		PLUC	G & FLOAT	EQUIPMEN	T
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment	ANY API	PLICA	BLE TAX		
and furnish cementer and helper to assist owner or	- 11 110 10 1		ARGED	.@	
contractor to do work as is listed. The above work was	UPON	INVO	ICING	•	
done to satisfaction and supervision of owner agent or				TOTAL	
contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAX				
COMPLITIONS IISTED OIL THE TEVELSE SIDE.	TOTAL CH	IARGE			₽
·		_		>	D DI 20 D AVC
4 - 4	DISCOUN	ı <u>— *</u>		IF PAU	D IN 30 DAYS RECEIVED
SIGNATURE Mile Halfrey	Mit	a G	Afra.		KANSAS CORPORATION COMMISSION
SIGNATURE PURE AUGUS	WILKE	<u> </u>	7 ۱۷ مارس PRINTE	D NAME	
/			<u>ت</u> م		AUG 2 1 2007

CONSERVÁTION DIVISION WICHITA, KS

ALLIED CEMENTING CO., INC. 32336

, · · · · •	SERVICE POINT	
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	Med Godge	
	ALLED OUT ONLOCATION JOB START JOB FINISH	
DATES-607 SEC. TWP. RANGE / CA	7:00 M Start JOB FINISH 5:00 Am 5:30 Am	e sage
	Lodge 10st Barber KS	
OLD OR NEW (Circle one)	= 10/10/10	
OLD OIL NEW CHEE OILE)	1 1 1.	
CONTRACTOR DURE	OWNER Woolsey	
HOLE SIZE 7 18 TO. 5180	CEMENT	•
CASING SIZE 45 DEPTH 5/82	AMOUNT ORDERED 75 166/40 64/4	
TUBING SIZE DEPTH	flyseal + 1850/ # 106 gyp 1085act	.:
DRILL PIPE DEPTH TOOL DEPTH	6 - Foken, se fill the A fines	eri .
PRES. MAX 1500 MINIMUM 200	COMMON 45 A @ 11.10 499.50	•
MEAS. LINE SHOE JOINT 30	POZMIX 30 @ 6,20 186,00 GEL 4 @ 16,65 be 60	. •
CEMENT LEFT IN CSG. 30	GEL 4 @ /6.65 _ 66.60 CHLORIDE@	
DISPLACEMENT 83 14 Lbs 28 KcL	ASC@	•
EQUIPMENT	185 H @ 13.40 2479.00	1/000
\mathcal{A}	Gypsial 17 @23.33 396.95 Salt 20 @ 9.60 192.00	MUSE
PUMP TRUCK CEMENTER	KOL Seal 1110 @ 170 777,00	AUG 2 1 200
# 372 HELPER DAVID	FL-160 139 @ 10.65 1480.35	
#353 DRIVER Raymond	Cla Pro 8 d. @ 25.00 200.00 F/O Seal 65 @ 2.00 130.00	
BULK TRUCK	_P10 Stat 65 @ 2.00 7.00.00	
# DRIVER	HANDLING 329 @ 1.90 625.10	•
	MILEAGE /3 4.329 x.09 384.93	
REMARKS:	TOTAL 74/7.43	
Det on bollom turculate plus	SERVICE	
sequences + 185 N tall shut		
down themp wash plings line	DEPTH OF JOB	
release plus + State Apparent	PUMP TRUCK CHARGE /8 40.00 EXTRA FOOTAGE @	
10t to 3 bom bumpolus st	MILEAGE 13 @ 6.00 78.00	
8374 5615 1800 pri Dundud	MANIFOLI) @ (OO OO OO	
. 1 010-01	Head Rutal @100.00 100.00	
CHARGE TO: WOOLSC 4	TOTAL 2018.00	
STREET		
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT	
	44	•
	1- AFU float shoe @ 385.00 385.00	
	1- Later down 1 12 200 360.00 360.00	
To Allied Cementing Co., Inc.	36-Row Sciallan @60.00 2160.00	
You are hereby requested to rent cementing equipment	@	
and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	ANY APPLICABLE TAX	
done to satisfaction and supervision of owner agent or	WILL BE CHARGED TOTAL 3003.00	•
contractor. I have read & understand the "TERMS AND	UPON INVOICING	
CONDITIONS" listed on the reverse side.		
	TOTAL CHARGE	
	DISCOUNT IF PAID IN 30 DAYS	
m series	ALLA F DIE KANSAS CORDO	CEIVED
SIGNATURE & SUCCESSION SIGNATURE	PRINTED NAME	PRATION COMMISSION
<i>'</i>		2 1 2007

CONSERVATION DIVISION WICHITA, KS